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%C_L: 3}({-— éx; 1"26'?

2$b
iﬁz —Ix,+ /8%, -2%e
At

"X, (t) —24-exp(2-t) : Sistemay; Sistema,
% x (1) =3x,(1) —6x,(t) +8¢

d
57 (1) = =9x(1) +18.5,(1) — 24 e’

_> Condiciones = x,(0) =C,, x,(0) =C,
Condiciones .= x,(0) = C}, x,(0) =C,

evalf ( expand ( Solucion Generalz) ,3 )

+0.857 C,

=> AA == array([[3,-6], [-9, 18]])

3 -6
AA =
-9 18
;> with(linalg) :
> MatExp = exponential(AA, t)
6 1 21 2 214, 2
7 T7e 7¢ 13
MatExp :=
_iezlt_i_i L+£621t
7 7 7 7

[ > BB := array([8-exp(21),-24-exp(21)])
BB:=[ 8 e’ —24e2’]

=> Xcero = array( [Cl, Cz])

Xcero =

Cl CZ]

=> Sistema = diﬁ‘(xl(t), t) =3-x,(1) —6-x,(t) +8-exp(2-1), diﬁ”(xz(t

)(;,(ﬂ)-"' G
X (0)= G,

), 1) ==9-x, () + 18

_> SolucionGeneral = dsolve( {Sistema, Condiciones}) : evalf(expand( SolucionGenemll), 3);

2 21 21 21
x, () =-0421 (') +0.421 (&) —0286 (') C,+0.143 (&) C,+0.286 C,

2 21 21 21
%(1) =126 (&) —1.26 (¢')" +0.857 (¢')” C,—0.429 (&')” C,+0.143 C, +0.429 C,
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SolHom = evalm(MatExp &* Xcero) : SolHom; SolHom,

6 1 21¢ 2 21t , 2
(74‘76 )C1+(—7e +7)C2
3 214, 3 1,6 21
(7e +7)C1+(7+76)C2

Comprobacion, = map(rcurry(eval, t =0'), SolHom)
Comprobacion | := [ ¢, G, ]

MatExpTau == map(rcurry(eval, t =t — tau'), MatExp)

6 1 21i—21c 2 214217, 2
7t 7 € T
MatExpTau :=
_iezlz—211+i L+£621,_2”
7 7 7 7

BBtau == map(rcurry(eval, t =tau'), BB)
BBtau = [ 82T _24 %7 ]

ProdTau := evalm(MatExpTau &* BBtau) : ProdTau,; ProdTau,

777 7 ¢ 7

] (ﬁ +Lezlz—211) 2T 94 (_; 21z—211+£) 2T

7 7 7 7
IntTau = map(int, ProdTau, tau=0 ..t) : IntTau; IntTau,
8 21t 8 24

8 (_QGZH—NT_,_Q) 2T o4 (i +£ezlr—2lr) 21

19° T 19°
24 211, 24 24
9 Toge©

Comprobacion,, == map(rcurry(eval, t=0"), IntTau)

Comprobacion, := [ 00 ]

SolGral = evalm(SolHom + IntTau) : SolUno = xx,(t) =SolGral; SolDos := xx, (1)

= SolGral2

SolUn0:=xx1(t)=(£+ie2”) C1+( 2 2lt+£)C2+ 8 21t

777 "7 c 7 19 ¢

SolDos:Zxxz(t)Z(—i 62”4-1) C,+ (i +£621t) Cz—ﬁezll

7 7

SolucionGeneral ; SolucionGeneral,

7 7 19

_ 8 2c 1 21e( 168 2 6
x, (1) 19 e+ o1 € ( 19 6C,+3 Cl) + 7 G, + 7 C,
24 1 168 1 3
xz(t)=1—9€21—7e2“(7—6C2+3C1)+7C2+7

Sollnic := map(rcurry( eval, C, ='1'), SolGral)
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) 6 75 21¢ 2 21, 2 8 2+ 225 21+, 3 1
nic:=|— + —— -= e - — - — — 1
Sollnic [74—1336 +( 7e +7)C2 196, 1336 +7+(7 a7

6 21¢ 24 2
I + 7 e )Cz—i- 19 e
> SolPart := map(rcurry(eval, G, ='2'), Sol]nic) : SolPart;; SolPart,
10 1 21r_ 8 a2
7 133 19
3 216, 5 [ 24 o
133 e+ 7 + 9 € (18)

[ > Solucionlnicial = map(rcurry(eval, C, ='1'), SolucionGeneral )

. . 8 24 1 21 ( 225 2 6 24 24
1 = =-— — — = e - = 1
Solucioninicial {xl(t) T e+ o1 € ( 19 6C2) + - C,+ 7 , X,y (1) 9 e 19
1 210225 1 3
_ e (19 6C2)+7C2+7}
> SolucionParticular = map(rcurry(eval, G, ='2'), Solucionlnicial ) : SolucionParticular,;
SolucionParticular,
_ 10 1 210 8 2
="~ a5 e 19 ©
3 5 24
xz(t)zﬁ 62“+7 +1—9 e’ 20)




